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Mr. Schlansky Geometry

Triangle Proofs Practice
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2. Given: SB and RE bisect each other
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6. Given: CH ||LE and CH = LE
Prove CI = IL
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Te Given: KO is the perpendicular bisector of DR
Prove: ZDKO = ZRKO }_LA,QW AL &QSQA S
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8. Given: S4 L AR AR L RE,Bis thel 1dpomt of AR
Prove: AS4AB = AERB
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9. Given: ER bisects / ORG, ER is an altitude

Prove: AORE = AGRE . ’ i Wﬂb
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10. Given: QA bisects UR SJQJQ”UMB
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11.  Given: TH and CE bisect ea hother t%kmﬁ
Prove: ATAE = ACAH ]
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13. Given: NO and HA bisect each oth

Prove: /N = £0 %LQWMB \QQ@(WS
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Given: QR is the perpendicular bisector, of NP

Prove: /NOR = /POR }}EISWUZ/}B Leam§
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